

Summer 2015

# A Short Note On Sums of Powers of Reciprocals of Polygonal Numbers

Jihang Wang

*DePauw University*

Suman Balasubramanian

*DePauw University*, [sumanbalasubramanian@depauw.edu](mailto:sumanbalasubramanian@depauw.edu)

Follow this and additional works at: <http://scholarship.depauw.edu/studentresearchother>

 Part of the [Number Theory Commons](#)

---

## Recommended Citation

Wang, Jihang and Balasubramanian, Suman, "A Short Note On Sums of Powers of Reciprocals of Polygonal Numbers" (2015). *Student research—other*. 1.

<http://scholarship.depauw.edu/studentresearchother/1>

This Article is brought to you for free and open access by the Student Work at Scholarly and Creative Work from DePauw University. It has been accepted for inclusion in Student research—other by an authorized administrator of Scholarly and Creative Work from DePauw University. For more information, please contact [bcox@depauw.edu](mailto:bcox@depauw.edu).

# A Short Note On Sums of Powers of Reciprocals of Polygonal Numbers

Jihang Wang  
Department of Mathematics  
DePauw University  
408 South Locust Street  
Greencastle, IN-46135

Suman Balasubramanian\*  
Department of Mathematics  
DePauw University  
602 S.College Ave.  
Greencastle, IN-46135

January 3, 2017

## Abstract

This paper presents the summation of powers of reciprocals of polygonal numbers. Several summation formulas of the reciprocals of generalized polygonal numbers are presented as examples of specific cases in this paper.

## Acknowledgement

The authors would like to thank the Faculty Development Committee of DePauw University for funding this summer research project during summer 2015.

## 1 Introduction

Polygonal numbers are numbers that represent dots that are arranged in the shape of a geometric regular polygon. Generalized polygonal numbers of rank  $r$  are numbers of the form [1][2][16][17]

$$P_k^r = \frac{k[(r-2)k - (r-4)]}{2} \quad (1)$$

where  $P_k^r$  is  $k$ -th  $r$ -gonal number. For example,  $P_3^r$  gives the triangular number, while  $P_5^r$  gives the pentagonal number.

Cook and Bacon observed in their paper [6], that specific examples of sums of reciprocals of various polygonal numbers are worth further study and thus motivates this paper. Before we present the summation of reciprocal formulas, we note the following interesting lemma about polygonal numbers.

**Lemma 1** *The sum of the first  $n$  polygonal numbers is given by [6]*

$$\sum_{k=1}^n P_k^r = \frac{n(n+1)[(r-2)n+5-r]}{6} \quad (1.2)$$

---

\*sumanbalasubramanian@depauw.edu

PROOF. From Equation 1, we can see that,

$$\sum_{k=1}^n P_k^r = \frac{r-2}{2} \sum_{k=1}^n k^2 - \frac{r-4}{2} \sum_{k=1}^n k = \frac{n(n+1)[(r-2)(2n+1) - 3(r-4)]}{12} = \frac{n(n+1)[(r-2)n + 5 - r]}{6} \quad (2)$$

□

Equation 2 gives the results for  $r = 10, 11, 12, \dots, 15$  and we state it here, for the sake of completeness, as the following corollary. (For results relating to  $r = 1, \dots, 9$ , refer to [6]).

**Corollary 2** For  $r = 10, 11, 12, \dots, 15$ ,

$$\sum_{k=1}^n P_k^{10} = \frac{(n+1)n(8n-5)}{6}$$

$$\sum_{k=1}^n P_k^{11} = \frac{(n+1)n(9n-6)}{6}$$

$$\sum_{k=1}^n P_k^{12} = \frac{(n+1)n(10n-7)}{6}$$

$$\sum_{k=1}^n P_k^{13} = \frac{(n+1)n(11n-8)}{6}$$

$$\sum_{k=1}^n P_k^{14} = \frac{(n+1)n(12n-9)}{6}$$

$$\sum_{k=1}^n P_k^{15} = \frac{(n+1)n(13n-10)}{6}$$

We now divide the remaining paper into the following sections. The next section will deal with preliminary definitions while sections three and four deal with some results regarding finite and infinite sums of reciprocals of powers of polygonal numbers respectively.

## 2 Preliminary Definitions

For other notations and terminology not defined here, see Abramowitz and Stegun's Handbook of Mathematical Functions with Formulas, Graphs and Mathematical Tables [1] and Gradshteyn and Ryzhik's Table of Integrals, Series, and Products [8].

**Definition 1** [1],[8] The Harmonic number  $H_n$  is the sum of the reciprocals of the first  $n$  natural numbers and is given by,

$$H_n = 1 + \frac{1}{2} + \frac{1}{3} + \dots + \frac{1}{n} = \sum_{k=1}^n \frac{1}{k} \quad (3)$$

**Definition 2** [1],[8] The generalized Harmonic number of order  $n$ ,  $m$  is given by,

$$H_{n,m} = \sum_{k=1}^n \frac{1}{k^m} \quad (4)$$

**Definition 3** [1],[8] The generalized Harmonic function  $H_n^{(s)}(z)$  is defined by [5][4][11][14]

$$H_n^{(s)}(z) = \sum_{j=1}^n \frac{1}{(j+z)^s} \quad (5)$$

, where  $n \in \mathbb{N}, s \in \mathbb{C} \setminus \mathbb{Z}^-$ ; and  $\mathbb{Z}^- := \{-1, -2, -3, \dots\}$ .

**Definition 4** [1],[8] The error function (denoted by  $erf(x)$ ) which is typically encountered when integrating the normal distribution, is defined by

$$erf(x) = \frac{2}{\sqrt{\pi}} \int_0^x e^{-t^2} dt \quad (6)$$

### 3 Finite Sums of Reciprocal of Powers of Polygonal Numbers

We now consider the finite sum of the reciprocals of the powers of polygonal numbers.

**Lemma 3** Let  $P_k^r$  denote the  $k^{\text{th}}$  polygonal number of rank  $r$ . Then  $\sum_{k=1}^n \frac{1}{P_k^r} = -\frac{2}{\beta(r-2)} H_{n,1} + \frac{2}{\beta(r-2)} H_n^{(1)}\left(-\frac{r-4}{r-2}\right)$ .

PROOF.

$$\sum_{k=1}^n \frac{1}{P_k^r} = \sum_{k=1}^n \frac{2}{k[(r-2)k - (r-4)]}$$

Let  $\beta = \frac{r-4}{r-2}$ , then

$$\begin{aligned} \sum_{k=1}^n \frac{1}{P_k^r} &= \sum_{k=1}^n \frac{\frac{2}{r-2}}{k(k-\beta)} \\ &= \sum_{k=1}^n \left( -\frac{2}{k\beta(r-2)} + \frac{2}{(k-\beta)\beta(r-2)} \right) \\ &= -\frac{2}{\beta(r-2)} \sum_{k=1}^n \left( \frac{1}{k} \right) + \frac{2}{\beta(r-2)} \sum_{k=1}^n \left( \frac{1}{k-\beta} \right) \end{aligned}$$

By the definition of harmonic number (Definitions 2 and 3), we know that

$$\begin{aligned} \sum_{k=1}^n \frac{1}{P_k^r} &= -\frac{2}{\beta(r-2)} H_{n,1} + \frac{2}{\beta(r-2)} H_n^{(1)}(-\beta) \\ &= -\frac{2}{\beta(r-2)} H_{n,1} + \frac{2}{\beta(r-2)} H_n^{(1)}\left(-\frac{r-4}{r-2}\right) \end{aligned}$$

□

We must mention that our proof above though slightly different, does indeed verify the sum  $\sum_{k=1}^n \frac{1}{P_k^r}$  that has been proved in [10].

**Lemma 4** Let  $P_k^r$  denote the  $k^{\text{th}}$  polygonal number of rank  $r$ . Then  $\sum_{k=1}^n \left(\frac{1}{P_k^r}\right)^2 = \frac{8}{\beta^3(r-2)^2} H_{n,1} - \frac{8}{\beta^3(r-2)^2} H_n^{(1)}\left(-\frac{r-4}{r-2}\right) + \frac{4}{\beta^2(r-2)^2} H_{n,2} + \frac{4}{\beta^2(r-2)^2} H_n^{(2)}\left(-\frac{r-4}{r-2}\right)$  for  $r \neq 4$ , where  $\beta = \frac{r-4}{r-2}$

PROOF.

$$\sum_{k=1}^n \left(\frac{1}{P_k^r}\right)^2 = \sum_{k=1}^n \frac{4}{k^2[(r-2)k - (r-4)]^2}$$

By a partial fraction expansion, the sum becomes,

$$\begin{aligned} \sum_{k=1}^n \left(\frac{1}{P_k^r}\right)^2 &= \sum_{k=1}^n \frac{\frac{4}{(r-2)^2}}{k^2(k-\beta)^2} \\ &= \sum_{k=1}^n \left( \frac{8}{k\beta^3(r-2)^2} - \frac{8}{(k-\beta)\beta^3(r-2)^2} + \frac{4}{k^2\beta^2(r-2)^2} + \frac{4}{(k-\beta)^2\beta^2(r-2)^2} \right) \\ &= \frac{8}{\beta^3(r-2)^2} \sum_{k=1}^n \left(\frac{1}{k}\right) - \frac{8}{\beta^3(r-2)^2} \sum_{k=1}^n \left(\frac{1}{k-\beta}\right) + \frac{4}{\beta^2(r-2)^2} \sum_{k=1}^n \left(\frac{1}{k^2}\right) + \frac{4}{\beta^2(r-2)^2} \sum_{k=1}^n \left(\frac{1}{(k-\beta)^2}\right) \end{aligned}$$

By definitions (4) and (5),

$$\sum_{k=1}^n \left(\frac{1}{P_k^r}\right)^2 = \frac{8}{\beta^3(r-2)^2} H_{n,1} - \frac{8}{\beta^3(r-2)^2} H_n^{(1)}\left(-\frac{r-4}{r-2}\right) + \frac{4}{\beta^2(r-2)^2} H_{n,2} + \frac{4}{\beta^2(r-2)^2} H_n^{(2)}\left(-\frac{r-4}{r-2}\right)$$

□

**Theorem 5** Let  $P_k^r$  denote the  $k^{\text{th}}$  polygonal number of rank  $r$ . Then, for  $r \neq 4$ ,  $m \geq 2$ ,

$$\begin{aligned} \sum_{k=1}^n \left(\frac{1}{P_k^r}\right)^m &= \sum_{i=1}^{m-1} [(-1)^m C_i^m \frac{\left(\frac{1}{r-2}\right)^m}{\left(\frac{r-4}{r-2}\right)^{m+i-1}} H_{n,m-i+1}] + (-1)^m C_m^m \frac{\left(\frac{1}{r-2}\right)^m}{\left(\frac{r-4}{r-2}\right)^{m+i-1}} H_{n,m-i+1} \\ &+ \sum_{i=1}^{m-1} [(-1)^{i-1} (-1)^m C_i^m \frac{\left(\frac{1}{r-2}\right)^m}{\left(\frac{r-4}{r-2}\right)^{m+i-1}} H_n^{(m-i+1)}\left(-\frac{r-4}{r-2}\right)] + (-1)^{m-1} C_m^m \frac{\left(\frac{1}{r-2}\right)^m}{\left(\frac{r-4}{r-2}\right)^{m+i-1}} H_n^{(m-i+1)}\left(-\frac{r-4}{r-2}\right) \end{aligned}$$

PROOF. Let  $P_k^r$  denote the  $k^{\text{th}}$  polygonal number of rank  $r$ . From (1) we can see that

$$\frac{1}{P_k^r} = \frac{2}{k[(r-2)k - (r-4)]},$$

so for the  $m^{\text{th}}$  power of  $P_k^r$ , we have

$$\left(\frac{1}{P_k^r}\right)^m = \frac{2^m}{(r-2)^m k^m \left(k - \frac{r-4}{r-2}\right)^m}.$$

By a tedious partial fraction expansion, we can see that

$$\sum_{k=1}^n \left(\frac{1}{P_k^r}\right)^m = \sum_{i=1}^{m-1} [(-1)^m C_i^m \frac{\left(\frac{1}{r-2}\right)^m}{\left(\frac{r-4}{r-2}\right)^{m+i-1}} \sum_{k=1}^n \frac{1}{k^{m-i+1}}] + (-1)^m C_m^m \frac{\left(\frac{1}{r-2}\right)^m}{\left(\frac{r-4}{r-2}\right)^{m+i-1}} \sum_{k=1}^n \frac{1}{k}$$

$$\begin{aligned}
& + \sum_{i=1}^{m-1} [(-1)^{i-1} (-1)^m C_i^m \frac{(\frac{1}{r-2})^m}{(\frac{r-4}{r-2})^{m+i-1}} \sum_{k=1}^n \frac{1}{(k - \frac{r-4}{r-2})^{m-i+1}}] + (-1)^{m-1} C_m^m \frac{(\frac{1}{r-2})^m}{(\frac{r-4}{r-2})^{m+i-1}} \sum_{k=1}^n \frac{1}{k - \frac{r-4}{r-2}} \\
& = \sum_{i=1}^{m-1} [(-1)^m C_i^m \frac{(\frac{1}{r-2})^m}{(\frac{r-4}{r-2})^{m+i-1}} H_{n, m-i+1}] + (-1)^m C_m^m \frac{(\frac{1}{r-2})^m}{(\frac{r-4}{r-2})^{m+i-1}} H_{n, m-i+1} \\
& + \sum_{i=1}^{m-1} [(-1)^{i-1} (-1)^m C_i^m \frac{(\frac{1}{r-2})^m}{(\frac{r-4}{r-2})^{m+i-1}} H_n^{(m-i+1)}(-\frac{r-4}{r-2})] + (-1)^{m-1} C_m^m \frac{(\frac{1}{r-2})^m}{(\frac{r-4}{r-2})^{m+i-1}} H_n^{(m-i+1)}(-\frac{r-4}{r-2})
\end{aligned}$$

$$C_i^m = 2C_{i-1}^m + C_i^{m-1}$$

$$C_m^m = 2C_m^{m-1}$$

(In order to generalize the above formula, we used Mathematica to obtain the partial fraction expansions for  $m = 2, \dots, 10$  - see appendix for the mathematica results), □

## 4 Infinite Sums of Reciprocal of Powers of Polygonal Numbers

From results in our previous section, we now validate a formula for  $\sum_{k=1}^{\infty} \frac{1}{P_k^r}$ , which has already been found differently in [15].

**Lemma 6** *Let  $P_k^r$  denote the  $k^{\text{th}}$  polygonal number of rank  $r$ . Then  $\sum_{k=1}^{\infty} \frac{1}{P_k^r} = \frac{2}{r-4} H_{-\beta}$ , where  $\beta = \frac{r-4}{r-2}$ ,  $r \neq 4$ .*

PROOF.

$$\sum_{k=1}^{\infty} \frac{1}{P_k^r} = \sum_{k=1}^{\infty} \frac{2}{k[(r-2)k - (r-4)]}$$

Let  $\beta = \frac{r-4}{r-2}$ , then

$$\begin{aligned}
\sum_{k=1}^{\infty} \frac{1}{P_k^r} &= \frac{2}{r-2} \sum_{k=1}^{\infty} \frac{1}{k(k-\beta)} \\
&= \frac{2}{r-2} \sum_{k=1}^{\infty} \frac{1}{\beta} \left( \frac{1}{k-\beta} - \frac{1}{k} \right) \\
&= \frac{2}{r-4} \sum_{k=1}^{\infty} \left( \frac{1}{k-\beta} - \frac{1}{k} \right)
\end{aligned}$$

Since, for  $A > 0$ ,  $\frac{1}{A} = \int_0^{\infty} e^{-Ax} dx$  [7], we get,

$$\begin{aligned}
\sum_{k=1}^{\infty} \frac{1}{P_k^r} &= \frac{2}{r-4} \sum_{k=1}^{\infty} \int_0^{\infty} e^{-(k-\beta)x} - e^{-kx} dx \\
&= \frac{2}{r-4} \lim_{N \rightarrow +\infty} \sum_{k=1}^N \int_0^{\infty} e^{-kx} (e^{\beta x} - 1) dx
\end{aligned}$$

By the Monotone Convergence Theorem [13], the above sum becomes,

$$= \frac{2}{r-4} \lim_{N \rightarrow +\infty} \int_0^{\infty} \frac{(1 - e^{-Nx})e^{-x}}{1 - e^{-x}} (e^{\beta x} - 1) dx$$

which then becomes (after taking the limit as  $N \rightarrow \infty$ ),

$$\sum_{k=1}^{\infty} \frac{1}{P_k^r} = \frac{2}{r-4} \int_0^{\infty} \frac{e^{-x}}{1 - e^{-x}} (e^{\beta x} - 1) dx$$

Let  $t = e^{-x}$ , then

$$\sum_{k=1}^{\infty} \frac{1}{P_k^r} = \frac{2}{r-4} \int_0^1 \frac{t^{-\beta} - 1}{1-t} dt$$

By using Mathematica, we find that  $H_{-\beta} = \int_0^1 \frac{t^{-\beta} - 1}{1-t} dt$ ,

$$\sum_{k=1}^{\infty} \frac{1}{P_k^r} = \frac{2}{r-4} H_{-\beta}$$

□

**Lemma 7** Let  $f(k) = e^{-k^2 x} + e^{-(k-\beta)^2 x}$ ,  $x > 0$ . Then  $f(k) > 0$ , when  $k \in [1, \infty)$

PROOF. The exponential function  $e^n > 0$ . When  $n = -k^2 x$  or  $n = -(k-\beta)^2 x$ ,  $e^n$  is still greater than zero. Therefore,  $f(k) > 0$

□

**Lemma 8** Let  $f(k) = e^{-k^2 x} + e^{-(k-\beta)^2 x}$ . Then  $f(k)$  is a decreasing function on  $[1, \infty)$ , when  $x > 0$  and  $\beta = \frac{r-4}{r-2}$ ,  $r \geq 3$ .

PROOF. Let  $k_1 > k_2 \geq 1$ , then we have  $k_1^2 > k_2^2$ . Then  $e^{-k_1^2 x} < e^{-k_2^2 x}$ , when  $x > 0$ . Since  $\beta = \frac{r-4}{r-2}$  and  $r \geq 3$ , we know that  $\beta \geq -1$ . Then  $e^{-(k_1-\beta)^2 x} < e^{-(k_2-\beta)^2 x}$ , when  $x > 0$ . Therefore,

$$e^{-k_1^2 x} + e^{-(k_1-\beta)^2 x} < e^{-k_2^2 x} + e^{-(k_2-\beta)^2 x}.$$

When  $k_1 > k_2 \geq 1$ , The  $f(k_1) < f(k_2)$ , so  $f(k)$  is a decreasing function.

□

**Lemma 9** Let  $f(k) = e^{-k^2 x} + e^{-(k-\beta)^2 x}$ , and  $I_n$  be a sequence where  $I_n = \int_1^N f(k) dk$  and  $x > 0$ . Then  $I_n$  is bounded.

PROOF.

$$\begin{aligned} I_n &= \int_1^N f(k) dk = \int_1^N e^{-k^2 x} + e^{-(k-\beta)^2 x} dk \\ &= \frac{\sqrt{\pi}(-\operatorname{erf}(\sqrt{x}) + \operatorname{erf}(N\sqrt{x}))}{2\sqrt{x}} + \frac{\sqrt{\pi}(\operatorname{erf}((N-\beta)\sqrt{x}) + \operatorname{erf}((\beta-1)\sqrt{x}))}{2\sqrt{x}} \end{aligned}$$

,where  $erf(x)$  is the error function by Definition 4.

$$I_n = \frac{\sqrt{\pi}}{2\sqrt{x}}(-erf(\sqrt{x}) + erf(N\sqrt{x}) + erf((N - \beta)\sqrt{x}) + erf((\beta - 1)\sqrt{x})).$$

For error function, we have  $erf(z) = 1$  when  $z \rightarrow \infty$ , and  $erf(z) = -1$  when  $z \rightarrow -\infty$ , and the range of error function is  $(-1, 1)$ , then we have

$$\begin{aligned} erf(\sqrt{x}) &< 1 \\ erf(N\sqrt{x}) &= 1 \\ erf((N - \beta)\sqrt{x}) &= 1 \\ erf((\beta - 1)\sqrt{x}) &< 1 \\ (-erf(\sqrt{x}) + erf(N\sqrt{x}) + erf((N - \beta)\sqrt{x}) + erf((\beta - 1)\sqrt{x})) &< 4 \\ \frac{\sqrt{\pi}}{2\sqrt{x}}(-erf(\sqrt{x}) + erf(N\sqrt{x}) + erf((N - \beta)\sqrt{x}) + erf((\beta - 1)\sqrt{x})) &< \frac{2\sqrt{\pi}}{\sqrt{x}} \end{aligned}$$

Therefore,  $I_n$  is bounded above by 4, when  $N \rightarrow \infty$ . □

**Lemma 10** *Let  $P_k^r$  denote the  $k^{th}$  polygonal number of rank  $r$ . Then we claim that*

$$\begin{aligned} &\sum_{k=1}^{\infty} \left(\frac{1}{P_k^r}\right)^2 = \\ &= \frac{4}{(r-4)^2} \left( \int_0^{\infty} \frac{2e^{-x}}{1-e^{-x}}(1-e^{\beta^2 x})dx + \int_0^{\infty} \frac{1}{2}(1 + \text{EllipticTheta}[3, 0, e^{-x}])dx + \lim_{N \rightarrow +\infty} \sum_{k=1}^N \int_0^{\infty} e^{-(k-\beta)^2 x} dx \right) \end{aligned}$$

if

$$\lim_{N \rightarrow +\infty} \int_0^{\infty} 2 \frac{(1 - e^{-N\beta x})e^{-x}}{1 - e^{-x}}(1 - e^{\beta^2 x})dx + \lim_{N \rightarrow +\infty} \sum_{k=1}^N \int_0^{\infty} e^{-k^2 x} dx + \lim_{N \rightarrow +\infty} \sum_{k=1}^N \int_0^{\infty} e^{-(k-\beta)^2 x} dx$$

is convergent.

PROOF.

$$\sum_{k=1}^{\infty} \left(\frac{1}{P_k^r}\right)^2 = \sum_{k=1}^{\infty} \frac{4}{k^2[(r-2)k - (r-4)]^2}$$

Let  $\beta = \frac{r-4}{r-2}$ , then

$$\begin{aligned} \sum_{k=1}^{\infty} \left(\frac{1}{P_k^r}\right)^2 &= \frac{4}{(r-2)^2} \sum_{k=1}^{\infty} \frac{1}{k^2(k-\beta)^2} \\ &= \frac{4}{(r-4)^2} \sum_{k=1}^{\infty} \left( \frac{2}{k\beta} - \frac{2}{(k-\beta)\beta} + \frac{1}{k^2} + \frac{1}{(k-\beta)^2} \right) \end{aligned}$$

Since  $\frac{1}{A} = \int_0^{\infty} e^{-Ax} dx$  for  $A > 0$ ,

$$\sum_{k=1}^{\infty} \left(\frac{1}{P_k^r}\right)^2 = \frac{4}{(r-4)^2} \sum_{k=1}^{\infty} \int_0^{\infty} (2e^{-k\beta x} - 2e^{-(k-\beta)\beta x} + e^{-k^2 x} + e^{-(k-\beta)^2 x}) dx$$



$$= \frac{4}{(r-4)^2} \lim_{N \rightarrow +\infty} \sum_{k=1}^N \int_0^\infty (2e^{-k\beta x}(1-e^{\beta^2 x}) + e^{-k^2 x} + e^{-(k-\beta)^2 x}) dx$$

From the Theorem of Linearity of Infinite Series [12], we have

$$\sum_{n=1}^{\infty} a_n + \sum_{n=1}^{\infty} b_n = \sum_{n=1}^{\infty} (a_n + b_n)$$

$$\sum_{n=1}^{\infty} a_n - \sum_{n=1}^{\infty} b_n = \sum_{n=1}^{\infty} (a_n - b_n)$$

when  $\sum_{n=1}^{\infty} a_n$  and  $\sum_{n=1}^{\infty} b_n$  are both convergent. For  $\sum_{k=1}^{\infty} (\frac{1}{P_k^r})^2$ , if  $\sum_{k=1}^N (2e^{-k\beta x}(1-e^{\beta^2 x})$ ,  $\sum_{k=1}^N (e^{-k^2 x})$ ,  $\sum_{k=1}^N (e^{-(k-\beta)^2 x})$  converge, then we have

$$\sum_{k=1}^{\infty} (\frac{1}{P_k^r})^2 = \frac{4}{(r-4)^2} (\lim_{N \rightarrow +\infty} \int_0^\infty 2 \frac{(1-e^{-N\beta x})e^{-x}}{1-e^{-x}} (1-e^{\beta^2 x}) dx + \lim_{N \rightarrow +\infty} \sum_{k=1}^N \int_0^\infty e^{-k^2 x} dx + \lim_{N \rightarrow +\infty} \sum_{k=1}^N \int_0^\infty e^{-(k-\beta)^2 x} dx)$$

$$= \frac{4}{(r-4)^2} (\int_0^\infty \frac{2e^{-x}}{1-e^{-x}} (1-e^{\beta^2 x}) dx + \int_0^\infty \frac{1}{2} (1 + \text{EllipticTheta}[3, 0, e^{-x}]) dx + \lim_{N \rightarrow +\infty} \sum_{k=1}^N \int_0^\infty e^{-(k-\beta)^2 x} dx)$$

□

**Conjecture 11** Let  $P_k^r$  denote the  $k^{\text{th}}$  polygonal number of rank  $r$ . Then

$$\sum_{k=1}^{\infty} (\frac{1}{P_k^r})^\alpha,$$

$\alpha \geq 3$ ,  $\alpha \in \mathbb{N}$  has a closed form similar to the form for  $\sum_{k=1}^{\infty} (\frac{1}{P_k^r})^2$  in the previous Lemma 10,

## Appendix A Mathematica

**Apart[4/(k^2((r-2)k - (r-4)^2), k]**

$$\frac{4}{k^2(-4+r)^2} + \frac{8(-2+r)}{k(-4+r)^3} + \frac{4(-2+r)^2}{(-4+r)^2(4-2k-r+kr)^2} - \frac{8(4-4r+r^2)}{(-4+r)^3(4-2k-r+kr)}$$

**Apart[8/(k^3((r-2)k - (r-4)^3), k]**

$$-\frac{8}{k^3(-4+r)^3} - \frac{24(-2+r)}{k^2(-4+r)^4} - \frac{48(-2+r)^2}{k(-4+r)^5} + \frac{8(-2+r)^3}{(-4+r)^3(4-2k-r+kr)^3} + \frac{48(-2+r)^3}{(-4+r)^5(4-2k-r+kr)} - \frac{24(-8+12r-6r^2+r^3)}{(-4+r)^4(4-2k-r+kr)^2}$$

**Apart[16/(k^4((r-2)k - (r-4)^4), k]**

$$\frac{16}{k^4(-4+r)^4} + \frac{64(-2+r)}{k^3(-4+r)^5} + \frac{160(-2+r)^2}{k^2(-4+r)^6} + \frac{320(-2+r)^3}{k(-4+r)^7} + \frac{16(-2+r)^4}{(-4+r)^4(4-2k-r+kr)^4} - \frac{64(-2+r)^4}{(-4+r)^5(4-2k-r+kr)^3} + \frac{160(-2+r)^4}{(-4+r)^6(4-2k-r+kr)^2} - \frac{320(16-32r+24r^2-8r^3+r^4)}{(-4+r)^7(4-2k-r+kr)}$$

**Apart[32/(k^5((r-2)k - (r-4)^5), k]**

$$\frac{16}{k^4(-4+r)^4} + \frac{64(-2+r)}{k^3(-4+r)^5} + \frac{160(-2+r)^2}{k^2(-4+r)^6} + \frac{320(-2+r)^3}{k(-4+r)^7} + \frac{16(-2+r)^4}{(-4+r)^4(4-2k-r+kr)^4} - \frac{64(-2+r)^4}{(-4+r)^5(4-2k-r+kr)^3} + \frac{160(-2+r)^4}{(-4+r)^6(4-2k-r+kr)^2} - \frac{320(16-32r+24r^2-8r^3+r^4)}{(-4+r)^7(4-2k-r+kr)}$$

**Apart[64/(k^6((r-2)k-(r-4)^6), k]**

$$\frac{64}{k^6(-4+r)^6} + \frac{384(-2+r)}{k^5(-4+r)^7} + \frac{3584(-2+r)^3}{k^3(-4+r)^9} + \frac{8064(-2+r)^4}{k^2(-4+r)^{10}} + \frac{16128(-2+r)^5}{k(-4+r)^{11}} + \frac{64(-2+r)^6}{(-4+r)^6(4-2k-r+kr)^6} - \frac{384(-2+r)^6}{(-4+r)^7(4-2k-r+kr)^5} + \frac{1344(-2+r)^6}{(-4+r)^8(4-2k-r+kr)^4} + \frac{1344(4-4r+r^2)}{k^4(-4+r)^8} - \frac{3584(64-192r+240r^2-160r^3+60r^4-12r^5+r^6)}{(-4+r)^9(4-2k-r+kr)^3} + \frac{8064(64-192r+240r^2-160r^3+60r^4-12r^5+r^6)}{(-4+r)^{10}(4-2k-r+kr)^2} - \frac{16128(64-192r+240r^2-160r^3+60r^4-12r^5+r^6)}{(-4+r)^{11}(4-2k-r+kr)}$$

**Apart[128/(k^7((r-2)k-(r-4)^7), k]**

$$-\frac{128}{k^7(-4+r)^7} - \frac{896(-2+r)}{k^6(-4+r)^8} - \frac{10752(-2+r)^3}{k^4(-4+r)^{10}} - \frac{26880(-2+r)^4}{k^3(-4+r)^{11}} - \frac{59136(-2+r)^5}{k^2(-4+r)^{12}} - \frac{118272(-2+r)^6}{k(-4+r)^{13}} + \frac{128(-2+r)^7}{(-4+r)^7(4-2k-r+kr)^7} - \frac{896(-2+r)^7}{(-4+r)^8(4-2k-r+kr)^6} + \frac{3584(-2+r)^7}{(-4+r)^9(4-2k-r+kr)^5} - \frac{10752(-2+r)^7}{(-4+r)^{10}(4-2k-r+kr)^4} - \frac{3584(4-4r+r^2)}{k^5(-4+r)^9} + \frac{26880(-128+448r-672r^2+560r^3-280r^4+84r^5-14r^6)}{(-4+r)^{11}(4-2k-r+kr)^3} - \frac{59136(-128+448r-672r^2+560r^3-280r^4+84r^5-14r^6+r^7)}{(-4+r)^{12}(4-2k-r+kr)^2} + \frac{118272(-128+448r-672r^2+560r^3-280r^4+84r^5-14r^6+r^7)}{(-4+r)^{13}(4-2k-r+kr)}$$

**Apart[256/(k^8((r-2)k-(r-4)^8), k]**

$$\frac{256}{k^8(-4+r)^8} + \frac{2048(-2+r)}{k^7(-4+r)^9} + \frac{30720(-2+r)^3}{k^5(-4+r)^{11}} + \frac{84480(-2+r)^4}{k^4(-4+r)^{12}} + \frac{202752(-2+r)^5}{k^3(-4+r)^{13}} + \frac{439296(-2+r)^6}{k^2(-4+r)^{14}} + \frac{878592(-2+r)^7}{k(-4+r)^{15}} + \frac{256(-2+r)^8}{(-4+r)^8(4-2k-r+kr)^8} - \frac{2048(-2+r)^8}{(-4+r)^9(4-2k-r+kr)^7} + \frac{9216(-2+r)^8}{(-4+r)^{10}(4-2k-r+kr)^6} - \frac{30720(-2+r)^8}{(-4+r)^{11}(4-2k-r+kr)^5} + \frac{84480(-2+r)^8}{(-4+r)^{12}(4-2k-r+kr)^4} + \frac{9216(4-4r+r^2)}{k^6(-4+r)^{10}} - \frac{202752(256-1024r+1792r^2-1792r^3+1120r^4-448r^5+112r^6-16r^7+r^8)}{(-4+r)^{13}(4-2k-r+kr)^3} + \frac{439296(256-1024r+1792r^2-1792r^3+1120r^4-448r^5+112r^6-16r^7+r^8)}{(-4+r)^{14}(4-2k-r+kr)^2} - \frac{878592(256-1024r+1792r^2-1792r^3+1120r^4-448r^5+112r^6-16r^7+r^8)}{(-4+r)^{15}(4-2k-r+kr)}$$

**Apart[512/(k^9((r-2)k-(r-4)^9), k]**

$$-\frac{512}{k^9(-4+r)^9} - \frac{4608(-2+r)}{k^8(-4+r)^{10}} - \frac{253440(-2+r)^4}{k^5(-4+r)^{13}} - \frac{658944(-2+r)^5}{k^4(-4+r)^{14}} - \frac{1537536(-2+r)^6}{k^3(-4+r)^{15}} - \frac{3294720(-2+r)^7}{k^2(-4+r)^{16}} - \frac{6589440(-2+r)^8}{k(-4+r)^{17}} + \frac{512(-2+r)^9}{(-4+r)^9(4-2k-r+kr)^9} - \frac{4608(-2+r)^9}{(-4+r)^{10}(4-2k-r+kr)^8} + \frac{23040(-2+r)^9}{(-4+r)^{11}(4-2k-r+kr)^7} - \frac{84480(-2+r)^9}{(-4+r)^{12}(4-2k-r+kr)^6}$$

**References**

- [1] M. Abramowitz and I. A. Stegun, *Handbook of Mathematical Functions with Formulas, Graphs and Mathematical Tables.*, New York: Dover Publications, 1972
- [2] A. H. Beiler, *Recreations in the Theory of Numbers*, Dover Publication, 1966.
- [3] P. Bruckman, J. B. Dence, T. P. Dence and J. Young, *Series of Reciprocal Triangular Numbers*, The College Mathematics Journal, **44.3** (2013), 177–184.
- [4] J. Choi, *Certain summation formulas involving harmonic numbers and generalized harmonic numbers*, Appl. Math. Comput. 2011, 218:734?740, doi:10.1016/j.amc.2011.01.062.
- [5] J. Choi, H.M. Srivastava, *Some summation formulas involving harmonic numbers and generalized harmonic numbers*, Computer Modelling 2011, 54:2220?2234.
- [6] C. K. Cook and M. R. Bacon, *Some Polygonal Number Summation Formulas*, Fibonacci Quart. 52 (2014), no. 4, 336?343.
- [7] C. Efthimiou, *Finding Exact Values For Infinite Sums*, Apr 1998, arXiv:math-ph/980401v1.
- [8] I. S. Gradshteyn and I. M. Ryzhik, *Table of Integrals, Series, and Products*, 7th Ed., Academic Press, 2007.

- [9] W. J. Kaczor and M. T. Nowak, *Problems in Mathematical Analysis I: Real Numbers, Sequences and Series*, Marie Curie-Sklodowska University, Lublin, Poland, 2000.
- [10] OEIS Foundation Inc. (2011), Polygonal Numbers, [http://oeis.org/wiki/Polygonal\\_numbers](http://oeis.org/wiki/Polygonal_numbers).
- [11] T.M. Rassias, H.M. Srivastava, *Some classes of infinite series associated with the Riemann zeta and polygamma functions and generalized harmonic numbers*, Appl. Math. Comput. 2002, 131:593?605.
- [12] J. Rogawski, *Single Variable Calculus: Early Transcendentals, 2nd Edition*, W. H. Freeman, March 25, 2011.
- [13] W. Rudin, *Principles of Mathematical Analysis (International Series in Pure and Applied Mathematics)*, McGraw-Hill Education, January 1, 1976.
- [14] A. Sofo H.M. Srivastava, *Identities for the harmonic numbers and binomial coefficients*, Ramanujan J. 2011, 25:93?113.
- [15] Springer International Publishing AG, Part of Springer Science+Business Media. <http://link.springer.com/article/10.1186/1029-242X-2013-49/fulltext.html>.
- [16] J. V. Uspensky and M. A. Heaslet, *Elementary Number Theory*, McGraw Hill, Inc., New York, 1939.
- [17] E. W. Weisstein, Polygonal Number. <http://mathworld.wolfram.com/PolygonalNumber.html>.